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Notes for Examinees:

0. Answers should be written in Japanese or English.
1. One problem booklet and 2 answer sheets are distributed.

2. Fill your Examinee’s Number in all prescribed boxes in the answer sheets and the problem booklet.
Do not write your name.

3. Check your problem booklet after the notice of examination start. The problem booklet contains 15
pages excluding a cover. When you find any losses or ambiguous prints, follow the direction by the
supervisor by raising your hand.

4. Two questions are given. Answer each of the questions on one answer sheet. Fill the Question
Number in a prescribed box of each answer sheet, respectively.

5. Even when you do not answer, fill your Examinee’s Number in prescribed boxes and submit all 2
answer sheets.

6. You may use the backside of the answer sheet. Check “Followed in the Back™ at the right bottom of
the front page, when you use the backside.

7. This booklet is collected after the examination. This is not regarded as the object of marking.
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The world’s annual CO, emissions per capita in 2012 was about 4.7 tons. In order to mitigate

climate change, it is required to reduce CO, emissions. Answer the following questions by

referring to Figure 1 and Tables 1 and 2.

1 Figure 1 shows the transitions during 1967-2005 of the annual CO, emissions of

representative nine countries and their urban population shares.

1.1

1.2

Among the nine countries in Figure 1, which countries are supposed to have annual
CO, emissions per capita below 5 tons in 2005? Answer all of them.
How have the urban population shares shifted during 1967-2005? Summarize the

findings from Figure 1 into three points.

2 Table 1 shows the total CO, emissions of the top seven countries in 2012.

2.1
2.2

23

Fill A, B and C with most appropriate countries. All those are provided in Figure 1.
According to Table 1, the United States is the second in total CO, emissions by
countries, but the first in CO, emissions per capita in 2012. Give its CO, emissions
per capita X. Suppose that everyone of the world’s population of 7,000 million
emits the same amount as the US’s emissions per capita, how much would be the
total emissions in the world in 2012? How many times of the actual total emissions in
2012 would it be?

Draw a figure that can identify the data of Table 1. The figure must be a graph

integrating population, total emissions and emissions per capita by country.

3 Table 2 shows greenhouse gas emissions per capita of major cities and those of the

corresponding countries.

3.1
3.2

Describe what you found from Table 2 within 5 lines.

Figure 1 shows that annual CO, emissions per capita tend to be smaller in countries
with limited share of urban population. Summarize your discussion within 10 lines
about ‘the relationship(s) between the reduction of greenhouse gas (or CO;)

emissions and urbanization’, taking the findings from Table 2 into consideration.



Carbon dioxide emissions per capita, 1967-2005

(metric tons per person)

25 —United ::B‘ait:a
20
15 Germany-
I aén Korea, Rep.
South Africa - B
10 T o B
in: : I " Sweden
: T Yo - ,.\,,\;;fl-"i)o pLe
i . 00 P0000™
L ecnooot0tRmatraD Brazil
15 25 35 45 55 65 75 85 95

Urban population (% of total)

Note: Bubble size corresponds to total carbon dioxide emissions (kilotons).
Source: World Development Indicators data files.
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Figure 1 : Carbon dioxide emissions per capita, 1967-2005.

Source (HFT) : The Little Green Data Book 2009, World Bank.
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Table 1 : CO;, emissions of the top seven countries in 2012

JEASE AR (BN | e & —AN%7-09
Rank Country Population (BH kYY) PEH = (hY)
(million) Total emissions Emissions
(million tons) per capita (tons)
1 A 1,353 9,065 6.7
2 T AU 314 5,244 x
United States
3 B 1,226 1,962 1.6
4 a7 143 1,773 12.4
Russia
5 C 127 1,219 9.6
6 KA 81 729 9.0
Germany
7 i [E] 50 575 11.5
Korea, Rep.

HFT : EDMC/— % /L ¥ —

Source: EDMC databank 2015 and others
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Table 2 : Annual greenhouse gas emissions per capita of major cities

Country Annual GHG City Annual GHG
emissions (tons of emissions (tons of
CO; eq per CO; eq per
capita)[year] capita)[year]
Brazil 4.16 [1996] | Rio de Janeiro 2.1[1998]
Sao Paulo 1.4[2000]
China 3.40[1994] | Beijing 10.1[2006]
Shanghai 11.7[2006]
Tianjin 11.1[2006]
Germany 11.62[2007] | Frankfurt 13.7[2005]
Hamburg 9.7[2005]
India 1.33[1994] | Delhi 1.5[2000]
Kolkata 1.1[2000]
Japan 10.76[2007] | Tokyo 4.9[2006]
Korea, Rep. 11.46[2001] | Seoul 4.1[2006]
South Africa 9.92[1994] | Cape Town 11.6[2005]
Sweden 7.15[2007] | Stockholm 3.6[2005]
United States 23.59[2007] | New York City 10.5[2005]
Portland, OR 12.4[2005]
Seattle 13.7[2005]

IR R AP ED 75%03 8 L% CO P EICHYS T 5,

Note: 75% of GHG emissions are approximately equivalent to CO, emissions.

Source (HiFfT) : UN-Habitat (2011) Cities and Climate Change: Policy Directions.
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The following text is a part of the book Reason before Identity, written by Amartya Sen
(Oxford : Oxford University Press, 1999). Read the text and answer the questions.

The original text cannot be placed on the WWW for reasons of copyright law. Please refer to
the following source, or view the original print at the reception room of the department.

Source: Amartya Sen, “Reason before Identity: The Romanes Lecture for 1998, Oxford :
Oxford University Press, 1999, pp.2-7. (extracted and modified)
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Questions

1.

Outline Sen’s review of the notion of ‘self-interest’ as characterized by Adam Smith and

others, and explain what Sen discusses critically, based on the context of the text.

. Social identity means that individuals identify with, and behave as parts of social groups to

which they belong. Describe the role of social identity in realizing a sustainable society.
Your answer should include a concise description of your idea of what ‘sustainable society’
is.
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